CoroTap™ 300 2.5 X DN

HSS-E-PM

W 350~ 1200N/mmed £ U'36HRC A

LF

LU

~THLGTH=

b < FORWEEIZHA P - i‘
T tpcon
Tk, mm

BT RELEDY |
TDxTP LF | THLGTH| THCHT LU | DCON a b F NO
T300-PM100JA-M3 P1PM M3x0.5 46 6 C@76P) | 18 4.0 3.2 6 s
T300-PM100JA-M4 P1PM M4x0.7 52 7 c@74pP) | 21 5.0 4 7 3
M T300-PM100JA-M5 P1PM M5x0.8 | 60 8 | cC@mP) | 25 | 55 | 45 | 7 | s
shta LR 6H | T300-PM100JA-M6 P1PM M6x1.0 62 10 C@75P) | 30 6.0 4.5 7 3
TiAIN T300-PM101JA-M8 P1PM M8x1.25 70 12 C(2.75P) | a7 6.2 5 8 [ s
T300-PM101JA-M10 P1PM M10x1.5 75 15 G (2.75P) 39 7.0 5.5 8 3
T300-PM101JA-M12 P1PM M12x1.75 | 82 16 C@7sp) | 41 8.5 6.5 9 | 3
T300-PM101JA-M16 P1PM M16x2.0 | 95 20 C@.75P) | 53 12.5 10 13 4
T300-PM101JA-M18 P1PM M18x2.5 100 25 C (2.75P) 56 14.0 11 14 | 4
T300-PM101JA-M20 P1PM M20x2.5 | 105 25 C{@.75P) | 525 | 15.0 12 15 4
T300-PM101JA-M24 P1PM M24x3.0 | 120 30 c(2.75P) | 60 19.0 15 18 | a
T300-PM100JB-M4X050 P1PM MF4x0.5 52 7 G (2.76P) 21 5.0 4 7 3
T300-PM100JB-M5X050 P1PM MF5x0.5 | 52 8 c(@76P) | 25 55 4.5 7 |
T300-PM100JB-M6X050 P1PM MFBx0.5 | B2 10 C(2.76P) | 30 6.0 4.5 7 3
T300-PM100JB-M6X075 P1PM MF6x0.75 62 10 C (2.75P) 30 6.0 4.5 7 S
MF T300-PM101JB-M8X100 P1PM MF8x1.0 70 12 C(2.75P) | a7 6.2 5 8 3
% T300-PM101JB-M10X100 P1PM MF10x1.0 70 12 C (2.75P) 39 7.0 S 8 | 3
HRUEFR 6H | T300-PM101JB-M10X125 PIPM | MF10x1.25 | 75 15 C@75P) | 39 7.0 5.5 8 3
TiAIN T300-PM101JB-M12X100 P1PM MF12x1.0 | 70 13 C@75p) | 35 8.5 6.5 9 | =
T300-PM101JB-M12X125 PIPM | MF12x1.25 | 80 13 C(2.75P) | 40 8.5 8.5 9 3
T300-PM101JB-M12X150 P1PM MF12x1.5 a2 13 C (2.75P) 40 85 6.5 9 | 3
T300-PM101JB-M14X150 P1PM MF14x15 | 88 15 C(2.75P) | 49 10.5 8 11 3
T300-PM101JB-M16X150 P1PM MF16x1.5 95 15 C(2.75P) | 475 12,5 10 13 | 4
T300-PM101JB-M18X150 P1PM MF18x15 | 95 17 C@.75P) | 475 | 14.0 11 14 4
T300-PM101JB-M20X150 P1PM MF20x15 | 95 17 c(@75p) | 475 | 15.0 12 15 | a

) - v TREEFRORUREEFRIT2BOTEEDERA.

CoroTap™ 300 2.5 X DN

HSS-E

1HHI#4 350~ 1 200N/mm=85 & UB6HRC

- EDDTTESEH CTREAT 2 EHRUIAD S TILRE T HIEENHDET .

b < FORVIEHIMA

]

QYvoov20 RAIASIWFvT

LF

- LU -
- THLGTH‘|

—|E’|-

|~

! boon

4
a
o B

Bm

&, mm
Busf RELEYE
TD=TP LF | THLGTH | THCHT LU | DCON a b F NOF
T300-MM170JA-M3 B145 M3x0.5 100 6 C (2.26P) 18 4.0 3.2 ] [ 2
T300-MM170JA-M4 B145 M4x0.7 100 7 C (2.26P) 21 5.0 4 7 3
M T300-MM170JA-M5 B145 M5x0.8 100 8 C (2.25P) 25 55 4.5 7 | a
HiaGZ4 6H T300-MM170JA-M6 B145 MBx1.0 100 10 C (2.25P) 30 6.0 4.5 7 3
T300-MM150.JA-M6 B145 M6x1.0 150 10 C (2.25P) 30 6.0 45 7 | 3
WEME  [7300-MM171JA-MS B145 M8x125 | 150 | 12 | C(225P) | 35 | 6.2 5 8 3
T300-MM171JA-M10 B145 M10x1.5 | 150 15 C (2.25P) 39 7.0 5.5 8 =
T300-MM171JA-M12 B145 M12x1.75 150 16 C (2.25P) 41 8.5 6.5 9 4
) - Ay THEFSRQUEEERIITS5EOTIEHEDF .

EDOTREFEHE CTERT 2 EDRUIAD M JILDRET ZEENHDET.




